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Congruent Triangles Review Focus Prachce Test+

Short Answer | %g

1. What does CPCTC stand for?
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2. What are the hortcuts that don’t work to two triangles are congruent?

3. What are the five shortcuts that work to show that two triangles are congruent?
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4. Identify the congruent trlangles and name thelr correspondmg congruent angles and sides. (CPCTC)
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, 5. AKLM is an isosceles triangle and £1 = £2. Then name the shortcut that could be used to prove ALKP -
X 'l,,’ ALMN. (Hint: Mark the f ure with what you know.)
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6. Without finding any other angles or sides congruent, determine which pair of triangles can be proved to be
)(\ congruent by the HL Theorem.
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Use the figure. @ SRS
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. If ALMN is isosceles and T is the midpoint of LN, which shortcut can be used to prove AMLT AMNT?

(Hint: Mark the figure with what you know.) A’ T » |
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. IfAF = DE, 4B = FC and 4B || FC, which shortcut can be used to prove A4BE = AFCD?
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The rhombus QJ,?ST is made of two congruent triangles. Given mZ QRS = 34 what is the measure of £S?
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Which triangles are congruent in the figure? By what shortcut are they congurent?
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If A4BC is isosceles and AE = FC, which shortcut can be used to prove A4EB = ACFB? (Hint: Mark the
figure with what you know.)
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Which triangles are congruent in the figure? By which shortcut are they congurent?
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\ 13. If ADJL = AEGS, which segment in AEGS corresponds to DL ?

@ 3)
|| Identify the congruent triangles in the figure. List the corresponding parts-By what short cut do you know
that the two triangles are congruent?
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Use the figure below for the following question.

16. Which shortcut proves the tr1angles congruent?
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\ 17. If ATGS = AKEL, which angle in AKEL corresponds to £77?
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Use the figure below for the folowing question.

/I/ 18. Which shortcut proves the triangle EGA and triangle IAG congruent?
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Complete this two-column proof.

Given: AABC is an isosceles triangle with base AC.

D is the midpoint of AC.

Prove: BD bisects ZABC.

Statements

Reasons

1. AABC is isosceles with base AC.

2.AB=CB

3. Z4= «£C

4. D is the mldpomt of AC.
5.4D=CD

6. ADABD = ACBD
7.41= /2

8. BD bisects ZABC.

Complete the proof.
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Given: L is the midpoint of Ji; JK || NM.
Prove: AJKL = AMNL

Statements Reasons
1. L is the midpoint of JM. l._a\ven
2.JL =ML 2. 2 |
3. JK|| MN 3._given :
4. LJKL = Z/MNL 4. ot (N 4 e :
5. ZJLK = ZMLN 5.YernCa
6. AJKL = AMNL 6. A S
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